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DeltaBz=BzNEW-BzOLD, x=0, y=0, z=0~100 DeltaBz:z
Entries  101
Mean x    49.5
Mean y  0.0448
RMS x   28.87
RMS y  0.06558

DeltaBz=BzNEW-BzOLD, x=0, y=0, z=0~100
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DeltaBx=BxNEW-BxOLD, x=-50~50, y=0, z=50 DeltaBx:x
Entries  101
Mean x       0
Mean y  6.531e-19
RMS x   24.54
RMS y  0.02509

DeltaBx=BxNEW-BxOLD, x=-50~50, y=0, z=50
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DeltaBx=BxNEW-BxOLD, x=30, y=0, z=0~100 DeltaBx:z
Entries  101
Mean x    49.5
Mean y  0.03348
RMS x   28.87
RMS y  0.1347

DeltaBx=BxNEW-BxOLD, x=30, y=0, z=0~100
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DeltaBtot=BtotNEW-BtotOLD, x=30, y=0, z=0~100 DeltaBtot:z
Entries  101
Mean x    49.5
Mean y  0.09059
RMS x   28.87
RMS y    0.13

DeltaBtot=BtotNEW-BtotOLD, x=30, y=0, z=0~100


